(0\ZE[(C @»»» 00000000 0S-Model Linear Guides

W
4-M X Qs
L J
ul F
h
Ho
L J
{a
01170LGSO000000
gooooag ooooo Ooo0oDooooDooooag goooao
H H, T, A\ L w L L, F Mx ¢, T h P
LGS15 24 4.6 9.5 34 56 26 26 40 19.4 M4x 5 15 14 60
LGS20 28 9 11 42 67.8 32 32 48.8 | 23 Mb5x 7 20 18 60
LGS25 33 7 125 48 78 35 35 57 26 M6x 8 23 22 60
LGS30 42 9 16 60 99 40 40 72 33 M8x 11 28 26 80
011800000000
ogooooag Ooooooooo
190 590 1q00 15pO 2090
100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGS15 A W e A T M e e T T
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGS20 ——
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
LGS25 e A L A i s R
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
120 280 440 600 760 920 1080 1240 1400 1560 1720 1880
LGS30 —
200 360 520 680 840 1000 1160 1320 1480 1640 1800 1960

Jo000 | LGS20 OCG 02 x1000

ooo

182

00000 (L)
ooooo

ooooo 0ooooo
oooo
BEE BES)—R

cG Y= JY—=R

VG HEEJ)—R

HG mmy)—R

FG BRIV

X —RDHEIKPAS IR



LGS series qqe® (172

P | ‘
G nxP | (G)
Lomax
Mx My Mz
ooooo 0000000000 |000000 000000000 |(00000| 00O
C Co Mx My M, oo oo
G Dx dx f | Lome |000]| t, N |[0kNO[OkNOQ kNOmOD kNOmOD kNOmO OkgO |Okg/mO
20 | 7.5x 45x 5.3| 4000 | ¢3 5 4 | 9321349 | 007 0.05 0.05 0.22 1.4
20 | 95x6 x 85| 4000 |M6x 1| 5 15 | 15.00 | 21.08 | 0.22 0.18 0.18 0.30 2.6
20 |11 x7 x 9 | 4000 |M6x1| 5 15 | 2055 | 2731 | 0.35 0.31 0.30 0.40 3.6
20 |14 x9 x12 | 4000 |M6x 1| 7 14 | 30.74 | 4131 | 0.59 0.49 0.48 0.85 5.2
BT mm
00O0O00oOD0ODn ooo
2500 3000 3500 4000 oooo
%OZQ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 2590 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 3190 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40 ‘
4000

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000

2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
T T T Tt T T T |

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
2‘020‘ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 2590 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 3190 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40 ‘
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il I 4000

T T T T T — — T T T — — T T T ™
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000

183





